Inequality Practice

Name: Date:
Question 1
Complete the mathematical sentences using either the = or # symbols
54 120
. 4 22 V. 55+11 25+25 VIL 95 - — 4 - —
u u 108 N 160
I 5 [] -5 V. 72-:30 [ ] 20-108
5 75
N1 750° VI = 19 VIII. 42 -|(-4)2
L] 35 L] 425 L1 -e4r
Question 2
Select the number line that corresponds to the inequality
| X>-3
A o e —t—f—> = Coo et ——————=
4 -3 2 1 0 1 2 3 4 4 -3 2 1 0 1 3 4
5w et——t—+—+—+—+—+—+—= Dottt
-4 3 2 1 0 1 2 3 4 4 3 2 1 0 1 2 3 4
Il X<2
Aot te—t——————= Ot
4 3 2 1 0 1 2 3 4 -4 3 2 1 0 1 2 3 4
B o e TN N T N N SR o D ol .
- 1 ] ] | | ] ] ] - 1 1 ] ] ] ] T ] ]
4 3 2 1 0 1 2 3 4 4 -3 2 1 0 1 2 3 4
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Inequality Practice

Question 3
Complete the mathematical sentences using either the < or > symbols

. 3 [] -3 VI. 3+30 [] 3+40
I 15 [] -10 VI 4 % ] 2 %
I 10 [] 100 VIlL75-22 []  95-38
V. 13 [] 3t X 42:2 []  22+42
V.-711 [] -70 X (6)2 [] (6)3
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Inequality Practice

Name: Key Date:
Question 1
Complete the mathematical sentences using either the = or # symbols
L4 [ » V. 55+11 [7] 25+25 Vi 9.5-% 4-%
l l l l convert l convert
S 10 95 - 05 4 - 075
| l
I 5 5 V. 72-30 [F] 20-108
l l
2160 2160
5 75 (-
-1 [=] 75 VI = K VIl 4 (-4)
35 425
1 | . 1 1
0.143 0.176 i
Question 2
Select the number line that corresponds to the inequality
| X>-3
-w:¢:::::::>°° C ——H—t—t—+——F—-
4 3 2 1 0 1 2 3 4 2 1 0 1 2 3 4
5w et——t—t—t—t+—t+—+—+—= D e —————t—t—=
4 3 -2 1 0 1 2 3 4 2 1 0 1 2 3 4

---

Y

| X<2

Ao+ 1+t + 5. (o
4 3 2 14 0 1 2 3 4

B. e T R (5)
4 3 -2 1 O 1 2 3 4

N 4
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Inequality Practice

Question 3
Complete the mathematical sentences using either the < or > symbols

| 3 -3 VI, 3+ +
7 54
I -15 -10 VI 4 7 2 5
. 10 100 VIIL75-2 -3
| |
| |
71 68
V. 13 31 IX. 42+2 22+ 4
l |
+2 +
| l
8 0.25
V. -71 -70 X. (6) (-6)
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